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1. A stock offers an expected dividend of $3.50, has a required return of 14%, and has
historically exhibited a growth rate of 6%. Its current price is $35.00 and shows no
tendency to change. How can you explain this price based on the constant growth
dividend discount model? (20 points)

2. Low-energy light bulbs typically cost $3.50, have a life of 9 years, and use about $1.60 of
electricity a year. Conventional light bulbs are cheaper to buy, for they cost only $0.50. On
the other hand, they last only about a year and use about $6.60 of energy. If the real
discount rate is 5%, what is the relative cost of the two products based on equivalent
annual annuity? Which light bulb would you suggest to purchase, and why? (20 points)

Annuity Factor Table
no. of years 1% 2% 3% 4% 5% 6%
1 0.9901 0.9804 0.9709 0.9615 0.9524 0.9434
2 1.9704 1.9416 1.9133 1.8861 1.8594 1.8334
3 2.9410 2.8839 2.8286 2.7751 2.7232 2.6730
4 3.9020 3.8077 37171 3.6299 3.5460 3.4651
5 4.8534 4.7135 4.5797 44518 4.3295 42124
6 5.7955 5.6014 5.4172 5.2421 5.0757 49173
7 6.7282 6.4720 6.2303 6.0021 5.7864 5.5824
8 7.6517 7.3255 7.0197 6.7327 6.4632 6.2098
9 8.5660 8.1622 7.7861 7.4353 7.1078 6.8017
10 94713 8.9826 8.5302 8.1109 7.7217 7.3601

3.Consider the following list of projects:

Project Investment NPV

A 405,000 18,000
B 600,000 90,000
C 375,000 60,000
D 450,000 6,000

E 525,000 30,000
F 225,000 30,000
G 240,000 27,000
H 600,000 60,000
I 150,000 12,000
J 270,000 30,000

You are given a budget of only $1,800,000 to invest in projects. Which projects will you
select, in what order will you select them, and why? (20 points)

4.Suppose that in the coming year, you expect Exxon-Mobil stick to have a volatility of 42%
and a beta of 0.9, and Merck's stock to have a volatility of 24% and a beta of 1.1. The
risk free interest rate is 4% and the markets expected return is 12%.

(a.)Which stock has the highest total risk? (5 points)

(b.)Which stock has the highest systematic risk? (5 points)

(c.)Calculate the cost of capital for a project with the same beta as Exxon Mobil's stock (5
points)

(d.)Calculate the cost of capital for a project with the same beta as Merck's stock (5
points)

5. What is a firm's weighted-average cost of capital if the stock has a beta of 1.45, Treasury

bills yield 5%, and the market portfolio offers an expected return of 14%? In addition to
equity, the firm finances 35% of its assets with debt that has a yield to maturity of 9%.
The firm is in the 35% marginal tax bracket. (20 points)




